Eingabe ab auf
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The value can be changed with the blue keys ab/auf (down/up).

short tap -> change of 1
holding -> constant increase/decrease of value

The red printed part of
the display can be
changed with the blue
ab/auf keys.

The value, which is nearer to the selector switch, will be
displayed without pressing of the yellow key “Eingabe”
(e.g. T2). By pressing the yellow key “Eingabe” (= input)
the second value will be displayed (e.g. diff2).

(0

utputs A1 - A4:

Changing from automatic to manual mode
(Aut/EIN/Aus = Automatic/ON/Off)
by pressing blue keys “ab/auf’.

Maximum function max1 - 4

The hysteresis has a decreasing effect, i.e.
reaching max the output will switch off, falling
below max minus hysteresis it will switch on
again.

(‘max2 /A2 A3 max3".
max1.: A1l A4 ; :max4
Minimal thresholds min1, min2 _ ,'"",'\
The hysteresis has an increasing effect, i.e. <« - min2 ; T6;
reaching min plus hysteresis the output will !
switch on, falling below min it will switch off. ,.m"ﬂ T5 F2e F2a

(Differential temperatures diff1 -4 )
The output will be released, when the
temperature difference between two set
sensors exceeds this value.

The hysteresis has an increasing effect, i.e. N
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Prog. Vorr. -

F3e F3a .

Vers.

Menu

J

reaching diff plus hysteresis the output will
\switch on, falling below diff it will switch off. )

of sensors T1 - T6

[Aktual temperature

/

F.. = Setting of switch times of time windows

A total of 3 time windows stands by (F1 - F3).

F1e: Switch-on time(e) of first time window (F1). Setting in increments of 10 minutes by
pressing the blue keys ab/auf.

F1a: Switch-off time (a) of first time window (F1). Setting in increments of 10 minutes by
pressing the blue keys ab/auf holding the yellow key “Eingabe” simultanesously.

-
4 Time v
1 C | 14.5 - Actual time = 2:50 pm. Setting by pressing
I 7.9 the blue keys ab/auf.
Eingabe
l 2 sec
F>A= Assignment of time windows

Elngabe Elngabe Elngabe Eingabe
F Fo TS[F30)T3(F v —
i H Hlo
hort short sho 2 sec
Assignment of time window 1 Assignment of time window 2 Time window F3e - F3a is Display again

to output A4 to output A1 not assigned to an output. => time window1
Therefore it is inactive.

o O o O o O

In the time window the respective program determines the status of the
selected output. Outside the time window it is switched off.

.

Prog ram V4
dO - Selected Program e.g. DO
'-‘ Setting by pressing the blue keys ab/auf

Eingabe
O

2 sec

Vorr. = Assignment of p riority

ﬂ ' Elngabe Elngabe Elngabe m) Elngabe
! Acd ! A3c AY0 —
shor‘c short short 2 sec
Assignment of second Assignment of first Assignment of second Output A4 has assigned

priority to the output A1 priority to the output A2 priority to the output A3 no priority. It can switch
(as output A1) independently from all

Q Q O O other oEtSuts O

Anoutput is being enabled, when all superior outputs with lower priority
number are switched off.

.

Vers.: Version of the controller

> Menu: Main menu for access to the sub menus of the controller

For description of sub menus see page 2




Menu UVR 64 ... - Ol EELTIEL
enu Vers. P53 Vers Menii ZSeC Sensor type 2 sec
short entry
O |

- Emgabe
o 2 se
Function control
short entry
Oy
] ‘ Eingabe
Ut b o
2 sec
Collector excess
temperature limit
short entry
Eingabe
St O—
2 sec
Start function
short entry
Oy
P Eingabe
-~ 1| O—»
2 sec
Priority menu
short entry
Oy
P Eingabe
(] O—»
2 sec
After-running time
short entry
Oy
Eingabe
HS5E | o
2 sec
Hystereses
short entry
Oy
Eingabe
Pd llo>
2 sec

Pump
speed control 1
short entry

Pdc

Pump
speed control 2
short entry

IO
<4+

Eingabe
O —»

HRU 2 sec

Auxiliary output A5
short entry

O

SRS

Elngabe

Sensor T1 ,J(a)" (=Yes)
T1is monltored ew = F1n
in case of error: display “FF1”

shon

o O

0 e Eingabe

I "u' Ul O—»
short

Temperature above which the
output is to be blocked (as long
as the output is set to ,automatic*)

ew= 140, setting>199°C: OFF
@
Eingabe
o—r
short

Activation of start function
A 0 = deactivated

A 1 = aktive
ew=A0
o O
Eingabe
F Yl o>
short

Radiation sensor at
sensor input T4

F 0 = no radiation sensor
ew=F0

Eingabe
]
O—>
t v short

t1=after-running time A1
0 = no after-running time
setting range: 10 s to 9 min

ew=0
o O
Eingabe
Hid| o>
short
Q00
H1=hysteresis (diff1)

see manual
3=3K per 64°C, setting
range: 1 to 9K/64°C ew=3

9 Eingabe
A 2lo-»
short

A=absolute value control
2=sensor T2, which is
kept constant

ew=0 (switched off)

Eingabe
o—»
short

Proportional part
setting range: 0 to 9 ew=5

mEmgabe
o C
c short

Aut = Automatic mode

AUS = output permanently off
EIN = output permanently on
ew= AUS (=off)

short

Sensor T2 ,J(a)" (=Yes)
T2 is monitored; ew = F2n

Sensor T6 ,no*
T6 is not monitored

in case of error: display “FF2” ew=F1n
o O o O
E; E'”anbe exit out of
‘ v Sec' sub menu
Temperature threshold
releasing the output.
setting range: 80 to199
we= 100
o O
Emgabe - Emgabe
shoﬂ
Radiation sensor at Radiation threshold 200W/m2
sensor inputT3 (without radiation sensor:
F 0 = no radiation sensor necessary temperature increase)
ew=FO0 setting range: 0 to 99, ew = 15
o O
M Eingabe Eingabe
cclU|o>ERS| o>
short short

Radiation threshold 200W/m?
(without radiation sensor:
necessary temperature increase)
setting range: 0 to 99, ew = 30

Waiting time oflow priority
(Example: 5 minutes)
setting range: 0 to 9 min, ew =5

o O o O
3 Elngabe C Eingabe
t 8'-' short t 3 s<h)o;>

t2= after-running time A2
.3 = after-running time 30 sec
from .1 to .9 (10 to 90 sec)

t3=after-running time A3
5 = after-running time 5 min
from 2 to 9 (2 to 9 min)

same operation as Pd1

ew=0 ew =0 ew=0
o O o O o O
Eingabe - | Eingabe i ;
5 Cc |9 ) 9 Eingabe axit out of
- O—> eoe0e - o
c/ J = sub menu
short 2 sec
00O
H2=hysteresis (diff2) H9=hysteresis (max3) HA—hystereS|s (max4)
see manual see manual see manual
5=5K per 64°C, setting 3=3K per 64°C, setting 3=3K per 64°C, setting
range: 1 to 9K/64°C ew=3 range: 1 to 9K/64°C ew=3 range: 1 to 9K/64°C ew=3
Eingabe Elngabe — Elngabe — Elngabe
o) | I B
—> L J
short shoﬁ shoﬁ shod
¢ = desired value in °C F=differential control d = desired value in K L=limiter function
absolute value control 1=warmer sensor T1 differential control 31=values b acts on sensor 3,
ew=50 3=cooler sensor T3 ew=10K value H on sensor 1
ew=0 (switched off) ew =0 5witched off)
o O o O O
| W) Eingabe = | Eingabe ' Eingabe | Eingabe
inY| o=>d 15 0>lu O|Oo=>n 18 0>
short short short 2 sec
Integral part Differential part Lower speed limit Actual speed stage
setting range: 0 to 9 ew=5 setting range: 0 to 9 ew=5 setting range: 0 to 30 ew=1 (betwwen 0 and 30)
not changeable
Elngabe Eingabe Eingabe Eingabe
A2u|lo—>|A3-| o> O =
shoﬁ short short short

Auxiliary output is linked
by ,OR* to output A1
ew = - (deactivated)

o O

Auxiliary output is linked
by ,AND* to output A2
ew = - (deactivated)

o O

Elngabe

shon

*FdJf3

Difference temperature “J(a) (

if diff.temp. after more than 10 min

pump run more than 40K
=> error code FF7; ew=Fdn

o O

Elngabe

Pump runtime in seconds

shoﬁ

setting range: 0 to 99, ew = 15

o O

| = | Eingabe
ELJ|lo—»
2 sec

Pump run-time in minutes
setting range: 0 to 90 minutes
(=tLO to tL9), ew = 2 (= 20 min)

o O
O —»

ol
2 sec

t4 =after-running time A4
0 = no after-running time
setting range: 10 s to 9 min

Eingabe

Output A3 is not linked
with auxiliary output
ew =-

(deactivated)

o O

Elngabe

shoﬁ
=Yes)

© O

' :‘. S Eingabe
i~ short
Max. interval time in minutes

setting range: 0 to 99, ew = 20

o O

exit out of
sub menu

exit out of
sub menu

Auxiliary output is linked
by inverse ,OR*

to output A4

ew = - (deactivated)

Sensor F1 ew=P
H = KTY (semi-conductor)
P =PT1000 (platinum)

Circulation error at sensor T4
If sensor T4 exceeds between
00:00 and 05:00 am value “L”
=>error code FF8; ew = Fc0 (off)

P Elngabe F P Elngabe F 3 v

short short

Sensor F2 ew=P
H = KTY (semi-conductor)
P =PT1000 (platinum)

o O © ©

Eingabe Eingabe exit out of
O—>

short 2sec Sub menu

Temperature “L” for
circulation error control

(not displayed, if Fc0)
setting range 0 to 99; ew=70

© O

E'”gabe exit out of
sub menu

- 23ec

Counter: number of start attempts
(Reset, if last start attempt

more than 4 hours ago)

this value is not changeable

Elngabe - | Eingabe
()
15 R85 o
short short
b=limiter value in °C h= max. value 0-99°C
desired value of event H=max. value 100-199 °C
ew=60 ew=H30
o O o O
exit out of
sub menu
B Eingabe Eingabe
F g | O— 8 = O—»
short short

Time window F2

is not linked to
auxiliary output

ew = - (deactivated)

Auxiliary output is linked
by inverse ,AND"

to time window F1

ew = - (deactivated)

Sensor F3 ew=P
H = KTY (semi-conductor)
P =PT1000 (platinum)

Eingabe | Elngabe
O—>eee|l F 5 H
short 2 sec

Sensor F6 ew=P
H = KTY (semi-conductor)
P =PT1000 (platinum)

o O

exit out of

o o sub menu

Explanations

EL3
O O

The red printed part of the display is changeable

with yellow “Eingabe” or blue “ab/auf’ keys.

The yellow colored text corresponds to yellow “Eingabe”
key, the blue colored text to the blue “ab/auf’ keys.

The red printed part of the display
is changeable with blue ab/auf
keys.

1N
Lo

£

t1=after-running time A1 (A1-A5)
.2 = after-running time from.1 to .9
(10-90 sec)or2to 9

(2-9 min) we=0

Exit from each display to normal operation happens by pressing the yellow
,Eingabe" key for 2 seconds, turning the selector switch or automatically
after one minute.

“we” = factory settings (= ex works)

re-entry to
first sub menu

exit out = E
of menu '-' n
Eingabe Eingabe
O @)
2 sec short

[End]
A

exit out of
sub menu

Eingabe
F3-]o>

2 sec

Time window F3

is not linked to
auxiliary output

ew = - (deactivated)
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